VIYE/MYE SERIES

88 —-MYF iR HL
MYF060 MYF090 MYF120 MYF160
MYEO060 MYEO090 MYE120 MYE160
3
4 40 122 210 364
if‘ 5 40 122 210 423
7 34 95 170 358
10 16 56 86 210
12 27 96 161 423
15 27 96 161 423
ER 5 T, Nm 16 40 122 210 364
20 40 122 210 364
R 25 40 122 210 423
L2 35 40 122 210 423
40 40 122 210 423
50 40 122 210 423
70 34 95 170 423
100 16 56 86 210
EAFFNET, Nm L2 3~100 3 At 158
BUEMNEE N, rpm L1L2 3~100 4000 3000 3000 3000
BABAREN, em | L1 3~100 8000 6000 6000 6000
‘ , L1 3~10 <10 <10 <10 <10
B arcmin|isss 12-100 <15 <15 <15 <15
LR M Nvaremin| 11,12 3~100 1.8 4.85 11 65.5
BYFREN Fop® N L1.L2 3~100 240 450 1240 6520
B S Foss® N L1L2 3~100 220 430 1000 3260
FERAEG hr L1.L2 3~100 20000
L1 3~10 > 96%
B % 2 12-100 > 94%
- L1 3~10 0.93 2.35 6.15 18.2
28 ke 12 12100 115 270 8.00 24.9
FERRE © L1.L2 3~100 —-10°C ~+90°C
piEibic] LLL2 3~100 A REB RS
PP ER L1L12 3~100 1P65
REHR L1.L2 3~100 ERAE
12 {& (n,=3000rpm) | dB L1L2 3~100 <65 <68 \ <70 <70
&2 48] MODEL ILLUMINATE =B _MYF @iEd
‘ . W MYF060 MYF090 MYF120 MYF160
MYF090 — n —_ 59 _ / OkRs £ MYEO090 MYE120 MYE160
5 0 m 3 0.46 1.73 12.78 36.72
E E. - E : E 4 0.46 1.73 12.78 34.63
.'""_-_:_-__-__-_--_-""""-""""‘. : r J"""""". F :"""""", : L1 5 0.46 1.73 12.78 34.24
' b | | | 7 0.41 1.42 11.38 34.07
DRSS ; Do RHEERRE. : ! 10 0.41 142 11.38 34.02
| MYFOBO/MYFOOO/MYF120MYF160 | | |  S1: T@EH# | | B HEBKR | i E = 1o = =
| MYE060/MYE090/MYE120/MYE160 i S2: MHEEH | | | | il W e o o . 2
Y S S S S i 20 0.44 1.49 12.18 34.24
25 0.44 1.49 12.18 34.24
] b ] i 12 35 0.44 1.49 12.18 34.24
L RUELE: okE S 40 0.44 1.49 12.18 34.02
' B (L1): 3,4,5,7,10 . _\L‘\i?:l - ! 50 0.34 125 11.48 34.02
WA (L2) ¢ 12,15,16,20,25,35,50,70,100 b BIAHERAS i 7 b 8 Lo >
T ooooooooiooooiooioioiooooooolhooooooooooooosoooooooooosoooooooooooooooo 1. L ; i=N,/N,,, )
2. & % 100rpm A, ] INMILE
HERIFEH]: MYF090-10-S2-P2/MHMD-082G1U 2 BHRE 100 1, (AT Rtk

108...0.0..0.. -n-uo-ooco109



v =25
BIF + RE + RS
5pE2R~FE /OUTLINE DIMENSION SHEET
MYF-060-L1
M / INPUT c9 iR / OUTPUT
35 c8
c7 31 10 %
% 25 | 25 [
- le——— . © | fﬁ\
- = N - M gl 5 2 ©)
; o= [y (@)
125 1 | | c6 :
l >§
- 3 c1q 4955 280
c4
MYF-060-L2
SN / INPUT c9 $iLhisk / OUTPUT
35 c8
c7 31 10 %
A P i
l————— i 7‘}
= o H L 3
S g = 88
125| 1 | | c6
1 L 1
— I
3
c2 A e
c4
4 572 /Output Diameter
@W R ¢t c2 C3 C4 C5 C6 C7 C8 C9 C10
M5x0.8P 266.7 4-Mdx12 @8 | 32 (@381 5 | 60 | 805 |1155| 8
© CHQ‘ MYF-060-L1| 270 | 4-Mdx12,4-M5x12 | 011,014 | 32 | @50 | 5 | 60 | 805 |1155] 8
) 290 | 4-M5x15,4M6x15 | @19 | 42 | @70 | 65 | 80 | 90.5 |1255| 7.5
@14ne 266.7 4-M4x12 @8 | 32 |@381] 5 | 60 |[1025|1375| 8
MYF-060-L2 | 70 | 4-M4x12 4-M5x12 | @11,014 | 32 | @50 | 5 | 60 |1025|1375] 8
@90 | 4-M5x15,4-M6x15 | @19 | 42 | @70 | 65 | 80 |1125|1475| 75

* CI~CTEQARIIREDIAERFIRZ R, AIREE A ER B E R .

* C1~CTare motor(metric standard) specific dimensions, which could be customised.

110 © o eee0 00000

BFH + FRE + RS

M R~HE /OUTLINE DIMENSION SHEET

MYE-060-L1

NI [ INPUT c9 Hthis / OUTPUT
35 ‘ c8
c7
31 4-M5X10
& 25 25 |
- S c— — 7‘}
= — o 5
S g = § LT 1118 8
125 1 || s
l
2 B c10
c4
MYE-060-L2
I / INPUT c9 itk / OUTPUT
o 35 cs
31 4-M5X10
& 25 25 | 252 Ia 3
= S Ry 77N
5 3 = g g © O
g P IR ‘ Ay A \NZ4 \\‘ ‘// (N
125 1 \ o
=2 cé » i
| .
c2 : c10
c4
M HEhTE /Output Diameter
5h R~t c1 C2 c3 C4 C5 C6 C7 C8 C9 C10
M5X0.8P 266.7 4-M4x12 28 32 |@38.1| 5 | 60 | 805 [1155| 8
© fE : MYE-060-L1| @70 | 4-M4x12,4-M5x12 | 211,214 | 32 | @50 | 5 60 | 80.5 |1155| 8
\/ 290 | 4-M5x15, 4-M6x15 219 42 | @70 | 65 | 80 | 905 [1255| 7.5
P14n6 266.7 4-M4x12 28 32 |@38.1| 5 | 60 |1025|1375
MYE-060-L2| @70 | 4-M4x12,4-M5x12 | @11,214 | 32 | @50 | 5 60 |102.5|1375
290 | 4-M5x15 , 4-M6x15 219 42 | @70 | 65 | 80 |1125|1475| 7.5

*CI~CTRABIREDIAERERZ R, WRIBEPERAMEM.

* C1~CTare motor(metric standard) specific dimensions, which could be customised.

® o ce0o000oce ]|]]




BFH + FRE + RS

5pE2 R~FE /OUTLINE DIMENSION SHEET

MYE-090-L1

v =
BIF + RE + RS
SpMEER~FE /OUTLINE DIMENSION SHEET
MYF-090-L1
NI / INPUT €o S8 / OUTPUT
405 c8
c7 10 090
36
428 IN M 1
- | ‘v
= H =) 5
5 g = ||| 8§ LI ﬂﬁ
lﬁﬂ 15 | |_c6
| | [
5 |
c10
c4
MYF-090-L2
A / INPUT co $H# / OUTPUT
40.5 c8
c7 10 090
I
4 28 IN 1
= |
| 1©)
~ g —r H 2l f f» E—; .},'3
© [ [ H S LI ]l &oro
16.5| 1.5 | | c6
| L
=
col |
c4
542 /Output Diameter
6ro R~ C1 c2 (ox} C4 C5 C6 C7 C8 C9 C10
M6x1.0P 290 | 4-M5x15, 4-M6x15 219 42 | @70 | 7 | 90 [1185| 159 | 9
# % MYF-090.L1 2100 4-M6x15 216019 | 42 | @80 | 7 | 90 |1185| 159 | 9
N o115 4-M8x20 @19,022,024| 50 | @95 | 10 | 100 | 122 [1625| 10.5
@20h6 @145 4-M8x20 219,022,024| 57 |@110| 10 | 130 | 129 [1695| 175
@90 | 4-M5x15 , 4-M6x15 219 42 | @70 | 7 | 90 | 149 1895 9
2100 4-M6x15 016019 | 42 | @80 | 7 | 90 | 149 |1895| 9
MYF-090-L2
o115 4-M8x20 919,022,024| 50 | @95 | 10 | 100 [1525| 193 | 10.5
@145 4-M8x20 ©19,822,224| 57 |@110| 10 | 130 |[159.5| 200 | 17.5

WA / INPUT co Hithi# / OUTPUT
405 c8
3
4 1 1
4. 28 = |
©
b sl & 2 [0 &s
o S1R™] [S) L8 3
16.5| 15| | | ¢
H L
3l c10
c4
MYE-090-L2
NI / INPUT c I3 / OUTPUT
405 cs
3
4 11
4 28 |
o — i
ol = © [t Y
S S | S L 4\»48{%
165 1.5 | | c6
L
|
S c10
c4
¥ H%h42 /Output Diameter
6o Rt c c2 c3 C4 C5 C6 C7 C8 CO Cl0
M6x1.0P @90 | 4-M5x15, 4-M6x15 | @19 4 [g0| 7 | 90 [1185] 159 | 9
S wyEsooL 210 4-M6x15 016019 | 42 | @80 | 7 | 90 |1185| 159 | 9
o115 |  4-M8x0 019,022,024| 50 | 295 | 10 | 100 | 122 |16255| 105
22016 o145 | 4MBx0 019,022,024 | 57 | @110 10 | 130 | 129 |1695| 17.5
290 | 4M5x15,4M6x15 | @19 42 [or0] 7 | 90 | 149 [1805] o
@100 4MBx15 016019 | 42 | @80 | 7 | 90 | 149 |1895| 9
MYE-090-L2
o115 |  4-M8x0 919.022,024| 50 | 295 | 10 | 100 |1525| 193 | 105
0145  4M8x0 019,022.024| 57 |@110| 10 | 130 |1505] 200 | 175

*CI~CTRARIRE DX IR Z R~T, WiRiEE P ER BMEM.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised.

112

* CI~CTRASIRE DIAEER < R~T, WiREE AEREMER.

* C1~C7 are motor (metric standard)specific dimensions, which could be customised.

® © e0e0 0000 0 113




- = " =
BI# + RE + RS BI# + RE + RS
oA L3
"/, L)
5MR<HE /OUTLINE DIMENSION SHEET 5MERTE /OUTLINE DIMENSION SHEET
MYF-120-L1 SE 20l
MM/ INPUT - cs - 3% / OUTPUT WA / INPUT - co - S / OUTPUT
cr o 1 0120 cr o
*5T—‘4° _ & 540 i |
~ _4:_: # »_:a #
§ o “ o & = [=] “ ol 5
5 g = [ Jf B3 5 g = & Jf R
2| 1.1 T |_C6 28 | 1] co6
LL | 4 |- '
o1q e
c4 c4
MYF-120-L2 VIVE_120_L2
Sl cg LI
A/ INPUT - cs ” 48 / OUTPUT $N3E 1 INPUT " o i 3% / OUTPUT
cr
cr
0120 4M10X20
50 15 50
s o || | 5 |
) 5 40
il li Jr R Jr
S s = i ] J‘t‘ a8 8 S} L] Jﬂ, 0[ o
23 Ltk ‘ cé & 23 1] :F ‘ 6
I 1 i o
: o1 e
C4 c4
4 5
M #4Z /Output Diameter #1542 /Output Diameter
R+ c2 c3 C4 C5 C6 C7 C8 C9 C10 8ho R#  c C2 C3 C4 C5 C6 C7 C8 C9 C10
8ho . oy 015 AMBZ)  |ot800%4| 6 | ot | 8 | 120 | 150 | 211 | 205 , M10x1.5P AT 4MBX0 | @19.022,024| 60 | 295 | & | 120 | 156 | 211 | 205
e X1, ous| amsao  |otsozzaze] & | 210 | 8 | 130 | 158 | 211 | 205 @l ( 0145 4M8x20 | 219022024 60 | o110 | 8 | 130 | 156 | 211 | 205
RN MYFa20p | 2115 | 4MBX0  |019.022,024) 60 | @95 | § | 120 |190.5245.5] 205 e P18 4MB)  [01902024] 0 | @95 | 8 | 120 1905|2455 205
o5 | aMe@0 | 019,022,024| 60 | o110 | 8 | 130 |1905 2455 205 @256 0145 4MBQ0 | 219.022,024| 60 | @110 | 8 | 130 |19052455] 205
@256

*CINCTRABIFRE DA EIEIR 2 R, TRIBE AER A E M.

* C1~CT7are motor(metric standard) specific dimensions, which could be customised.

114 © o c0co 00000

*CI~CTRAHIFRE IR ERRZ R, TREBEEFEREMENR.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

® © e0e0 0000 0 115



BFH + FRE + RS BFH + FRE + RS

5pE R~FE /OUTLINE DIMENSION SHEET

MYE-160-L1

5M¥2R~FE /OUTLINE DIMENSION SHEET

MYF-160-L1

B / INPUT 9 % / OUTPUT MY / INPUT c9 it / OUTPUT
c 87 c8 c7 87 c8
1 " o175 79
1 @220
B Lrﬁj: i \ 5| 65 ﬁ |
- & o [ s & = 3 [ [ &l 5
° g = I+8k 5 g = B 88
2 3 21 | | Tﬁ % ) | “T | cs
: ] Ty ﬁ
6l —— o | L
o] 2. 1
c4
MYE-160-L2
MYF-160-L2
i u co /OUTPUT
IR / INPUT co IR / OUTPUT IR / INPUT 87 c8 i
o e o175 3 4M12x22
79 8 2220 c7 s
— 2220
|| ; o . A p145 ]
H — > v | y N &
51 65 i \ 5 I Y SETA O\ b
i i o | %§
i = - ES : s T N
1 ‘ Cé N 38 2 It ] \ s &
3 2 1 1 H 1 /
i L ]
B 6l 19
6l €10 c4
c4
M HEh{E /Output Diameter [ i) H5h7Z /Output Diameter 4
= o
12hg
A S 02024 | 72 | @10 | 10 | 130 | 164 | 251 | 205 2 MYEAgoLq 21| 4MBx 922024 | 72 | 6110 | 10 | 130 | 164 | 251 | 205
< ( J/ 2200 4-M12x30 235 83 |@1143] 10 | 180 | 175 | 262 | 265 i @200 4-M12x30 @35 83 |@1143| 10 | 180 | 175 | 262 | 26,5
MvE-te0.2 2122 4-M8x20 219022024 | 62 | 9110 | 8 | 130 |2055 (2925 21 " MYEA60.2 2148 4-M8x20 919,022,024 | 62 | @110 | 8 | 130 |205.5|2025| 21
240ne @200 4M12x30 @35 82 |p1143| 10 | 180 2255|3125 28 @40h6 2200 AN12330 235 82 |a1143] 10 | 180 |2255 3125 28

* CI~CTR AHIHRE DR EEIR 2 R, AR P ERBMEM.

* C1~C7 are motor(metric standard) specific dimensions, which could be customised.

116 ® o 0000 0000 0

® o ce0000oce ||/

* CI~CTRAFIREDIAERIRZ R, TRIEERERAIEM.

* C1~C7 are motor(metric standard) specific dimensions, which could be customised.




